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J-106
B.A. (Part-III) Examination, 2021
ECONOMICS
Paper-II
(Statistical Methods)

Time Allowed : Three Hours
Maximum Marks : 75
Minimum Pass Marks : 25

;A U Y B SR AT | AP SHIS § TP T

HRAT IR & 199 GZ1 B 3Tch T & |

Attempt all the five questions. One question from
each unit is compulsory. All questions carry equal

marks.
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Give definition of statistics and discuss its function
and limitation.
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Write short notes on (any two) :
(@  Method of Sampling
(b)  Statistical Survey
(c) Classification
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0-10 6
10-20 9
20-30 10
30-40 16
40-50 12
50-60 8
60-70 7



(3)

The distribution of wages in a factory is as follows.

Calculate the mode :

(4)

Following datas are related to the number of student
of a college. Represent them through percentage

sub-divided bar diagram:

Wages (in Rs.) No. of Workers
0-10 6
10-20 9
20-30 10
30-40 16
40-50 12
50-60 8
60-70 7
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2010-11 2011-12 2012-13
DAl 800 1000 1200
fasm 900 700 800
U] 700 900 1400
fafer 600 400 600
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Faculty No. of Student

2010-11 2011-12 2012-13
Arts 800 1000 1200
Science 900 700
Commerce 700 900
Law 600 400 600
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Write short notes on (any two) :
(@) Skewness
(b)  Standard Deviation

() Dispersion
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Calculate Standard Deviation from the following

data:
Class Frequency

5 2
10 7
15 11
20 15
25 10
30 4
35 1
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PHEA : 1 2 3 4 5 67 8 9 10

PIfCAAR: 2 4 -1 43 +2 0 ? +3 +3 2
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From the following data calculate Spearman's Rank

Difference Correlation Coefficient :
Serial Number: 1 2 3 4 5 6 7 8 9 10

Rank : 2 -4 143 +2 0 ? +3 +3 -2
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20 17
25 24
30 28
35 32
40 35
45 38
50 42
55 51
60 56
65 60
70 62

Calculate Karl Pearson's coefficient of correlation

between the age of the husband and wife :

Age of Husband Age of Wife
20 17
25 24
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28
32
35
38
42
51
56
60
62
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8
2

(. 9)
75
40
24

(7)
30
35
40
45
50
55
60
65
70
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A 2 40
B 4 16
C 1 10
D 5 25

10

60

Compute Fisher's ideal index from the following

data :

Commodities

o0 w >

Base Year
Price Total Exp.
(per unit) (in )
2 40
4 16
1 10
5 25

Current Year
Price  Total Exp.
(per unit) (in%
75
40
24
10 60
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Find trend by 3 yearly moving average method from

the data given below. Plot original values and trend

values on graph paper:

(a¥) Year (a) Value
1975 10
1976 15
1977 12
1978 18
1979 15
1980 22
1981 19
1982 24
1983 20
1984 26
1985 22
1986 30
1987 25
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